








HOMEWORK

Rearrange the sentences :

P. who became famous as an artillery commander 

Q. during the French Revolution 

R. statesman and military leader 

S. Napoleon Bonaparte was a

1. PSQR 

2. QSRP 

3. SQPR 

4. SRPQ 

5. PQSR













Tense

PRESENT PAST FUTURE

Indefinite

Continuous

Perfect

Perfect Cont.

Indefinite Indefinite

Continuous Continuous

Perfect Perfect

Perfect Cont. Perfect Cont.



• When he fainted , his brother was with him.

• When he was writing his report , his mother was preparing meal for 

him.

Note : Events occurring at the same time must be given in the same 

tense.



• I shall come if he will call me.

Note : Will or Shall can’ be used twice in the same sentence even if both 

the actions refer to future tense.



• He behaves as if he was the owner.

• It looks as if they have had a shock.

• It looks as though you’ve not met him before.

Note : With the phrase ‘as if’ or ‘as though’, the past tense and plural 

form of verb should be used.



• I wish I have accepted the offer.

• I wish I will get the ticket.

• I wish he can go with you.



• With the word “Wish” four verbs are used.

WERE , HAD , WOULD , COULD

WERE 

HAD

WOULD

COULD





Nuclear waste will still being (1) radioactive even after twenty 

thousand years , (2) so it must be disposed (3) of very quickly.(4)/ 

All correct(5)

A.1

B. 2

C.3

D.4

E. 5

Solution : Remain/ be should be used



My friend lived at the top (1) of an old house (2) which attic had 

been (3) converted into a flat. (4)/ No Error (5)

A.1

B. 2

C.3

D.4

E. 5

Solution : ‘Whose’ should be used instead of ‘Which’



A public safety advertising (1) campaign in Russia (2) hope to 

draw attention (3) of pedestrians crossing the road . (4)/ No 

Error (5)

A.1

B. 2

C.3

D.4

E. 5

Solution : Subject is singular so Hopes should be used



A cash prize was (1) award to the most (2) succeeded salesman of 

the year (3) by the president of the country.(4) No Error (5)

A. 1

B. 2

C.3

D.4

E. 5

Solution : Awarded to the most is correct

Sentence structure is in passive voice (Past simple)



The Renaissance was (1) a time to ‘re-awakening (2) in both the 

arts (3) and the sciences .(4) No Error (5)

A. 1

B. 2

C. 3

D. 4

E. 5

Solution : ‘Of’ should be used in place of ‘to’



A speaker must …………….. To intellectual level of the 

audience .

1. Adhere

2. Speak

3. Adapt

4. Quality 

5. Organize

6. Adjust

a. 1 & 4

b. 2 & 3

c. 3 & 6

d. 1 & 5

e. 4 & 6



According to  recent …………….. , 61% of India’s unemployed 

within the next decade could be its educated youth.

1. Idea

2. Data

3. Survey

4. Philosophy

5. Explanation

6. Surge

a. 2 & 3

b. 1 & 5

c. 4 & 1

d. 3 & 6

e. 1 & 6



Precautions are to be taken with any one who seems…………….. 

1. Contagious

2. Infectious

3. Diseased

4. Defied

5. None of these

Solution : Infectious



Rumors continued to be rampant about his …………….. 

Culpability in Billy Langstrom’s death.

When did they find these …………….. bones?

1. Vindictive

2. Alleged

3. Vendetta

4. Supposed

5. Doubtful

Solution : Option B Alleged



HOMEWORK

Fill in the Blank:

We must not complain that roses have 

thorns but rather be grateful that thorns 

………….. flowers.

Carry

Bear

Evade

Produce

Shun

Dodge




